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Differentiate between population and community in an ecosystem.

A population is all members of a species in an area at the same time. A
community is all the populations of different species that live together
in the same area at the same time.

A population of squirrels lives in a habitat with lots of food and no
predators. Analyze the graph given below and interpret what is
happening to their population size at the one-year mark.

The population size is increasing

Carrying Capacity

Population of —>»
squirrels

Population Size —

Time (years) —



Overhunting and natural disasters such as floods, fires, or volcanic
eruptions affect population size of various species in an ecosystem.
How do you categorize animals that have seen significant population

decrease?

A species that has died out

Extinct species
and no individuals are left.

A species whose population is

Endangered Species
at risk of extinction.

A species at risk but not yet

Threatened Species
endangered.

Water is an essential component of photosynthesis, How are water molecules used in photosynthesis?

. Photosynthesis

-‘ ’-
/. \ Snergy

cortion Sockk

6C0O, + 6H,0 ——> C.Hy,0:+ 60,

1
)
1
1
iThe oxygen from the water molecules is released through the

istomata into the atmosphere; the hydrogen atoms from the
1

water molecules are used to make sugars called glucose.
:
1



A plant cell is shown below. Identify the labelled parts of the cell and explain the function of each part.
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a.; A-mitochondrion, powers the cell through chemical reactions; B-chloroplast, uses light energy and make -
ifood i
1 I

o

b.| A-chloroplast, powers the cell through chemical reactions; B- mitochondrion, uses light energy and make
food

|

L

c.| As=vacuole, store food, water, and waste material; Beibesome, make proteins

d.| A-ribosome, store food, water, and waste material; B- vacucle, make proteins




The graph shows the atmospheric carbon dioxide (CO;) and oxygen (O3) concentration at different times of
the day. Based on the graph, what time of day does photosynthesis occur at its peak and why?

Atmospheric Oxygen and Carbon Dioxide Concentration

" &

1 el (07

':D:ll'ld Oy
concentration

a.| Afternocon: the concentration of 03 is minimum because CO; is removed from the atmosphere during
photosynthesis,

b.| Morning: the concentration of CO; is maximum because CO; is released fo the atmosphere during
photosynthesis,

€. Moon: the concenfration of Oy is minimum bacause O s removed from the atmosphere during
phcl::-synlhasis.

1
- - - - - - L L L T L L L L L L T L Dy

d.| Midnight: the eoncentration of O3 is maximum, because O, is released to the atmosphers during
photosynthasis.
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What is the difference between a plant cell and an animal cell?

]
a.| plant cells have a cell wall, animal cells do not -
e o o ;5,5 ol
b.| plant cells have a nucleus, animal cells do not
.| plant cells have a cell membrane, animal cells do not
d. | plant cells have a milachondrion, animal cells do not
Q.9: G6_Elite_EOT1_2021-22_V1 Marki(s): 1/1

How do detritivores benefit an ecosystem?

a.| They produce food by photosynthesis,
T o B OB O T\ A H
b. - They keep ecosystems clean by decomposing dead organisms. -
l..........................-...---.------------l---lll-lllllll--------llllllll--ll--‘
€.| They produce food by chemosynthesis.
d.| They balance the ecosysiem by consuming herbivares.

Human activity can have a big impact on ecosystem. Which of the following is an example of resource
extraction?

a.

b.

drainage from houses and automobiles expelled to natural water systems
:-----------------.-.---.----.----------------------------------------------------------1
| cars and factories give off harmful gases such as carbon monoxide -
(T T T T T T T T T T T T T T T T T T T T T TTTITTTTTITTrTrTTUTYTrIrrrrrrr ol

deforestation for infrastructure expansion

introducing nonnative species in an ecosystem




Goby fish live on wire coral (a sea animal), and changes color to blend in with the host, so it has protection
from predators. Since the wire coral is not affected by this, explain the symbiotic relationship between goby

fish and wire coral.

L s

]
a.' Commensalism: a relationship that benefits one species but does not harm or benefit the other.

b. Cooperation: a relationship in which two species work together in cooperative relationships for their

survival.
c. Parasitism: a relationship that benefits one species and harms the other.

d.| Mutualism: a relationship in which both partners benefit.

How are food chains different from food webs?

[ar—.

a.| Food chains indude how energy enters an ecosystermn, and food webs do not include how energy enters ar

ecosyslem.

b. Food webs include how energy enters an ecosystem, and food chains do not include how energy enters ar

ecosystem.

R L L L L L L e L

]
c.; A food chain is a simple model of how energy moves from a producer to one or more consumers. A food w

L) 8 . s \
scontains many food chains and how they are interconnected in an environment.

d. A food web is a simple model of how matter moves from a producer to one or more consumers, A food cha’

contains many food webs and how they are interconnected in an environment.

bwwwwwmwd
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A student was researching about different types of cells. She wrote down the following information after her
research. Which of the following statements represent the characteristics of a eukaryoltic cell?

. The cell has genetic material not surreunded by a lining.
[I. The cell has organelles with specialized functions.
11l. Linings surround most of the organelles in the cell.

a. |
b.| &l
c.| 18l

d.: & ;

Stage 1: An old wheat field had been left alone by the farmer.
Stage 2: Grasses move into the field and begin to take over,
Stage 3: Flowering plants, such as wildflowers begin to grow,
Stage 4: Small shrubs begin to grow in the old wheat field,

Stage 5: A few years later, native frees begin to grow in the field.

e

Stage 1 Stage 2 Snuna Stage 4 ﬂanaﬂ

a.| Aguatic succession

L)
b.! Ecological succession i

€.| Eutrophication

d.| Resource extraction




Matter moves continuously through ecosystems in cycles. Which of the following cycles directly depend on
photosynthesis?

a. | water cycle and carbon cycle

b. | water cycle and oxygen cyde

€. carbon cycle and nitrogen cycle

pAaaaasIEEEEEEEEBEEEREEEEEEBEEBEEEEEEREDERE 5NN N V- N U G U D R U O "
[ [ ]
d. . carbon cycle and oxygen cycle .

Which of the following organelles inside the cell helps to transport substances from one area of a cell to
anather area of a cell?

a.| Golgi apparatus

b.| Vacucle

€.| Vesicle

o

d. i Cytoplasm '



As eutrophication occurs, populations of algae grow in aquatic ecosystems. How does this affect fish in that
ecosystem?

a. The growth of the algae causes pollution to increase and fish to die.

b. The presence of the algae encourages sediment to drop out of streams into the pond and the population of =
Ito increase,

I S N W S S S O S U S -

L}
c.! The algae use so much of the oxygen in the water that causes fish to die. '

d.| The algae use so much of the carbon dioxide in the water so the population of fish increases.

How does nitrogen get to the soil and turn into usable nitrogen compounds?

Nitrogen
Y

e S P ——
1
a.] lightning changes nitrogen gas in the atmosphere to nitrogen compounds — it reaches the ground when it

Erains—-. nitrogen-fixing bacteria converts these compounds to usable nitrogen compounds

bowmmmmd

b.| plants change nitrogen gas in the atmosphere to nitrogen compounds — it reaches the ground when it rain
nitrogen-fixing bacteria converts these compounds to usable nitrogen compounds

c.| plants change nitrcgen gas in the atmosphere to nitrogen compounds —» it reaches the ground when plants
decompose-» nitrogen-fixing bacteria converts these compounds to usable nitrogen compounds

d. animals change nitrogen gas in the atmosphere to nitrogen compounds — it reaches the ground when itra' ~ »
nitrogen-fixing bacteria converls these compounds to usable nitrogen compounds
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A microbiologist was doing an investigation on microorganisms. He used a microscope to view the
microorganisms and gathered the following information. Which of the following statements is one of the main

components of the cell theory?

I. The organisms are made of cells.
Il. The organisms cannot be seen with unaided eye.
lIl. The organisms' cell has genetic material surrounded by a lining.

a.] | '
e o o 4

b. 1

c.| 1&ll

d. &l

How would you compare photosynthesis and cellular respiration?

a. | Cellular respiration releases oxygen and photosynthesis releases carbon dioxide.

b
1 1
b.! Photosynthesis stores energy in food molecules, and cellular respiration releases the energy in food :

Emolecules. E

Cellular respiration stores energy in food molecules, and photosynthesis releases the energy in food
molecules.

n

d. Photosynthesis requires the reactants glucose and oxygen, and cellular respiration requires the reactants
carbon dioxide and water.
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A student analyzed the energy pyramid below. He found that, less energy is available for
consumers at each higher trophic level. Why does this occur?

Teophic level 3
(f porcent of enesgy avoliabhd)

Trophic level 2
(%0 porcoen of anosgy sveredio)

Avalloble eneigy decr esses

s Trophic jevel 1
1900 petcont ot encray avalobi)

a.| because producers are only found at the bottom of the pyramid

b.| because predators eat more organisms in their own level than organisms in other level

¢.| because consumers eat both producers and other consumers

1
d.! because organisms use most of the available energy to fuel their own life processes )

B -l

Why is a predator-prey relationship beneficial for the ecosystem?

a. prevents predator populations from growing too large for the carrying capacity of the ecosystem

b.| prevents prey populations from growing too large for the carrying capacity of the ecosystem

€. provides shelter for the prey and protects it from danger

- -

|
d.! causes a cooperative relationship to form for survival of both animals -
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Analyze the food web given below. Identify the organisms obtaining energy directly from
producers.

Oak tree

a.| Shrew, Caterpillar, Squirrel, Wood Mouse

0 2 020 o e N . 11 S o 5 0 S S =
b. E Squirrel, Caterpillar, Fungi, Earthworm E
B o £

c.| Shrew, Fungi, Earthworm, Wood Mouse

d. Saquirrel, Caterpillar, Owl, Fox

The human body regulates pH and blood sugar levels, as well as core body temperature. What is the term
used to describe the ability of an organism to maintain balance in its internal conditions?

1
a.! stimuli !

b.  reproduction

€. homeostasis

d.  organization




